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}-’ — BO -+ BI.X:] + ‘82){2 + u, [3.401

wage = By + Bieduc + Brabil + u. [3.42]

7 =B, + Bx;. [3.41]

wage = By + Bieduc + v,

Bl_= Bl + fi’zgl, where 31 and E’Q are the slope estimators (if we could have them) from
the multiple regression

y,on X, Xp, i =1,....n [3.43]
and 9, is the slope from the simple regression

Xponx;,1=1,....mn [3.44]



E(B)) =EB(B, +B,0,) = BB, + BBy,

. [3.45]
=B, + ;0.
which implies the bias i B, is
Bias(B)) = E(B)) - B, = B9 3.46]
plim éél =By + B1d. [5.5]

where

8, = Cov(xy,x,)/ Var(x,). [5.6]



TABLE 3.2 Summary of Bias in 8; when x, Is Omitted in Estimating Eqution (3.40)
Corr(x;, x,) > 0 Corr(xy, x,) < 0

B,>0 Positive bias Negative bias

B, <0 Negative bias Positive bias




AUON AVTLKATAOTOONC
(proxy / mpooeyylotikn petaBAntn)

log(wage) = B, + Bieduc + B.exper + Bsabil + u. [9.9]
y =Byt Bx; + Boxy + Bsxi+ . [9.10]
X3 = 0¢ T O3x3 + v, [9.11]

x* un mapatnpoupevn / mapaAeumtopevn LetoBAnTh
X TLOPATNPOUEVN, TIPOCEYYLOTLKN UETOBANTN

AUon avtikataotaonc: maAlvépopoupe y, os x1,2,3



IKovoTtonNTkn Avon otav:

1. E€wyevela otnv apykn maAwvdépounon [9.10]

2. Corr(u,x_3)=0

[X_3 elvall AxpnoTo av mapatnPeoUcoue to x* 3]

3. Corrlv 3.x i)=0.i=1.2.3

=>  E(ilx;,x0.x3) = Bxilxy) = 8y + 8y, 9.13]

TIX

E(abilleduc.exper,1Q) = E(abil|lIQ) = 8, + 5510.




emeldn:

y = (Bg + B300) + Bx; + Bxy + B303x3 + u + B3vs.

'H tooduvapa:

y=oay+ Bix; + B, + azx; + e,



TABLE 9.2 Dependent Variable: log(wage)

Independent Variables (1) (2) (3)
sduc 065 054 018
(.006) (.007) (.041)
exper 014 014 014
(.003) .003) (.003)
tenure .O] 2 .0] ] .0] ]
(.002) (.002) (.002)
martied 199 200 201
(.039) .039) (.039)
south —.091 —.080 —.080
(.026) (.026) (.026)
urban 184 182 184
(.027) (.027) (.027)
black —.188 —.143 —.147
(.038) (.039) (.040)
10 — 0036 —.0009
(.0010) (.0052)
(.00038)
(.113) (.128) (.546)
Observations 935 935 935
R-squared 253 263 263




TABLE 9.3 Dependent Variable: log(crmrteg;)

Independent Variables (1) (2)
unemgs —.029 .009
(.032) (.020)
log(lawexpcgz) 203 —.140
(.173) (.109)
log(crmrteg,) — 1.194
(.132)
Intercept 3.34 .076
(1.25) (.821)

Observations 46 46
R-squared 057 680




AUon pe petaPBAntec epyalelo

y =Bt Bix+ u, [15.2]
Cov(x,u) # 0. [15.3]

log(wage) = By + Bieduc + Brabil + e,

log(wage) = By + Bieduc + u, [15.1]



YrioBeoelc yia petapPAntn epyaleio z
1. Eéwyeveila epyaleiou

Cov(zu) = 0; [15.4]

2. JXETIKOTNTA EPYAAEiOU

Cov(z.x) # 0. [15.5]

iy 1Q ; eknaidevon untepac; apltUuoc adepPLWV



Ektiuntnc pe petaAntn epyoleilw

i

D @—D0i—P

B, == . [15.10]




2UyKplon pne OLS

_.—-—-—-_-__H___'_'——-—-_

log(wage) = —.185 + .109 educ
(.185) (.014)
n =428 R = .118.

educ = 10.24 + 269 fatheduc
(.28) (.029)
n =428, R* = .173.

_.—-—-—-_-__-—__'_'——-—-_

log(wage) = 441 + .059 educ
(.446) (.035)
n =428, R* = .093.

[15.15]

[15.16]

[15.17]



